Money and Real Life Problems

. A spider has 8 legs. How many legs do 4 spiders have?
. Tinarolled double six on her dice. What was her score?

. There are 14 plums. 7 children share them equally. How
many plums does each child have?

. Patrick bought 3 chocolate bars at 15p each. How much did
he spend altogether?

. It costs 50p to go swimming. How much would it cost for 3
children to go swimming?

. There are 25 bean bags. Kim takes 12 and Mark takes 6. How
many bean bags are left?

. 5 people have 4 cakes each. How many cakes do they have
altogether?

. Paul buys 3 apples at 10p each. How much change would he
get from 50p?

. There are 15 apples, 12 bananas and 10 pears in a box of
fruit. How many pieces of fruit are there altogether?

10. | think of a number, then halve it. The answer is nine.

What was my number?



